DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

12JPCM08 | JEE PRACTICE QUESTIONS | %1%
(2023-24) (TEST-8) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. If voltage across a bulb rated 220V, 100 W drops
by 2.5% of its rated value, the percentage of the
rated value by which the power would decrease is

A) 5% B) 10%

C) 20% D) 2.5%
220V, 100W WS UINLLULL @  edlemd 5 eor
WeTeorHS  CoumiLim®  2.5%  jemeiled (Bb S
afpsd  gemLuwb  ereoflev  WGHULNLLIUL L
arellellmhg  eHFmeT  FHiHD  Hlmeor
GemDU|LD?

A) 5% B) 10%

C) 20% D) 2.5%

2. A circuit element X when connected to an ac
supply of peak value 100V gives a peak current of
5A which is in phase with the voltage. A second
element Y when connected to the same AC supply
also gives the same value of peak current which
lags behind the voltage by n/2 If X and Y are
connected in series the same supply, what will be
rms value of current in ampere?

A) 1012 B) 512

C) 5\2 D) 5/2

@@m Weramnlev X eerm 2 MmILILITeTS
QU@L WLHIL 100 V Q&mesor.  AC  UJL6dT
@emeord:&ELILGILD  CUME HeML&GWD QLB
IO6OTGeOTTL LD  5A QLeor&l  LOI6OT6OT(LD & 5 & Sl L_60T

2CT HLLEH 2 6TaTsl. @UevorLMeugl 2 miliL|
Y 9185 AC eIPBISHULET @6em6tordaLILbID
GUME CH 66 QU@L LOOTCTTL L S0
Sell&®ma,  whoib OGS S SIL 60T
12 SLL Gaumiumligey LIeT&HmI& 2 6Tengl. X
WHMID Y G US| 60T QG TLflemesorILev
@ eneTHSELILIMAN CUTE Ol6TCTTL L SH60T rms
& Iem L L Nwiiflev &mevorss

A) 10A2 B) 5/\2

C) 5\2 D) 5/2

3. In the series LCR circuit the power dissipation is
through

A)R B)L

o) C D) Both L and C

LCR QarLy Wertammlev Hmer @LoLIL] eT&H 60T
aIAIGW gL

AR B)L

C)C D) Both L and C

4. An AC source is connected to a capacitor C, due to
decrease in its operating frequency

A) Displacement current increases
B) Displacement current decreases
C) Capacitive reactance remains constant

D) Capacitive reactance decreases
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WNer@sH&HEH C  wmenrgl  AC
@) 60 600TE S LILIL_(H6TerTS). @36
T TG 6U6DIT GemnmMU|LD CLIMS

PV S SIL 60T
QUGS
A) @LUQUWIFA 06TCeoTTLL LD 2B &6 G 1D
B) @LUQUWIFH WleTCeor ML LD Gemnm&BmS!
Q) WeTCH &R WiletT LT MILIL| LDTMTE
D) 6T CS & E Ul 6ot L 6OTLOMILIL] &6 mU]LD
5. A capacitor of capacitance 150 pF is connected
to an alternating source of emf given by E =

36sin(120xt)V. The maximum value of current in
the circuit approximately equal to

A)2A
B) 12 A
CO)\2 A

D)2\2 A

LTOHag WeTCeTTL L epeuGHSILeT 150 pF
O6TCHEHGSHHMeT GG T6vor L 16T G & &G
@) 60)600T&H & L1LIL_(H 6TETSI. Q&ETMH&SLILIL L
et QU@ ellems E = 36sin(120nt)V  eTevflev
Wetramnilev 2 6Tem QLIHLD - Lol 6oT G6oT L L& H) 60T
WL CSHTIMTWLOMS..

A)2 A
B) 12 A
C)\2 A
D)2\2 A
6. In an oscillating LC circuit, the value of inductance
is 1.6 mH and the value of capacitance is 4 pF. If

the maximum charge on the capacitor is 4 x 10°¢
C, then maximum current is

A) 75 mA B) 12.5 mA

C) 125 mA D) 50 mA

R jemeva|mid LC &mmlev, LilesTgmevorLq.udleor
L& 1.6 mH mHomib 6T CaH&HRUN6T IGLIL
4 uF, 0eTCEH &G W6t QLB LWleoTenmL L DG LIL
4 x 107 C eTenfl6L QUIHLD LOl6dTG6oTITL_L_LD

A) 75 mA B) 12.5 mA

C) 125 mA D) 50 mA

7.1f 120 V, 60 Hz, AC voltage is applied to an LR
having R = 100 ohm and L = 2H, then current in
the circuit is

A) 0.32A B) 0.16A

C) 0.48A D) 0.80A

120 V, 60 Hz wmmHens Werersdsn LR
&FOHMNGG QFNEGSLILOGHME, LR &mHrjlév R =
100 e2Lb LDMMILD L = 2H eTevflev LledTammilev 2 6iTerm
Lol 60T G6uTITLL_LD

A)0.32A B) 0.16A

C) 0.48A D) 0.80A

8.In LCR series circuit, an alternating emf e and
current 1 are given by equations e = 100sin(100t)
V, and i = 100 sin (100t + ©/3) mA. The average
power dissipated in the circuit will be

A) 100 W B) 10 W
C)5W D)2.5W
@B LR  QsmLy &mflédd bLrmHas

STETWESD e WHmh WeTGTTL LD i-@)6T
&eool GBI  WHLIL&HET WemmGul e = 100 sin
(100t) V. LoMmitb i = 100 sin (100t + 7/3) mA, eTedfl6b
et mnilev FrmaFflmg @Lasa UL L SHmeor ...

A) 100 W B) 10 W

C)5W D)2.5W

9. A particle of mass m moving with velocity u
collides elastically with a particle of mass 3m at
rest. After collision the heavier particle moves
with velocity

A)u/3
B) 2u
C)3u

D) u/2

u HFCaIsESEH HHBGL a Blenmujemnluwl
@@ QUITIHET eUle] Blemevuled 2 6Tem  3m
BlenmwenLwl QUTHEBLET WL Gmsev
ML TP MG 6T6vfl6L GLOMEH V&G LI LI 63T &60TLOM60T
QUITHET & (HLD HemFGalss L.
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A)u/3
B) 2u
C)3u

D) u/2

10. A billiard ball moving with a speed of 5Sms™
collides with an identical ball, originally at rest.
If the first ball stops dead after collision, then the
second ball will move forward with a speed of

A) 10 ms™! B) 1 ms™!
C) 5ms™! D) 2.5 ms™!
5ms”’ GausSHeL QFeuad Llevewryl ubBS!

R6TM,  QBMLESHESEH  @ule] Blemevuiey
o 6Tem  9ICs5 wWMHFlmeT LBS 6T 60T
CMEHHMS. CLTHNHGL LT WHev LbhS
BlemeLWITS: BIMHB MG 6TevfleL @) TevorLmeug LibH)
(LNTCETTES HE[HLD GalssLD.

A) 10 ms™! B) 1 ms™!

C) Sms™! D) 2.5 ms'

11. A ball strikes a horizontal floor at 450. 25 % of
its kinetic energy is lost in collision. Find the
coefficient of restitution.

A) 1N2
B) 1/4
C) 12

D) 1/272

UbBSl eeTml  Seovpuler W& SemLS e
Femsuley 45 GCommemrsHev  CLMSIHMS.
Gmsedler GUIME 25% @ UIES MMM S
@WEHME eeflev IWSUFWefllL &GHoTsHSHemnS
& T600T&:

A) 12

B) 1/4

C) 12

D) 1/242

12. A bullet of mass 20g and moving with 600 ms™!
collides with a block of mass 4 kg hanging with
the string. What is velocity of bullet when it
comes out of block, if block rises to height 0.2m
after collision?

A) 150 ms™! B) 300 ms™'

C) 200 ms! D) 400 ms!

20 g mleom WMOMID 600 ms' HenFCalsHSSIL 60T
B&EMBD CHMTLLT ety SHUlm earmle) QFHTHSH S
Q&TETI(H&H G 4 kg BlemmujeTer sl enlufler Wig
GLTEIBME. CMEHMEEL] N6 &L enLwmersl 0.2 LS
2 WD 2 wWibsme slelamw i@ QeueflGw
QLD CUTE GHTLLaN6dr et &FGaudsLD 6T6dT6oT?

A) 150 ms™! B) 300 ms™

C) 200 ms™! D) 400 ms™

13. A block of mass 0.50 kg is moving with a speed
of 2 ms™! on a smooth surface, it strikes another
mass of 1 kg and then they move together as a
single body. The energy loss during the Collison
is

A)0.67] B)0.167J

C)0.34] D)1J

050 kg Blem Q&MEITL 6(H &L 6MLUIMTETSI
QIREIWRLILITET LITLILI6L 2 ms™ 6T6dTm G6udH & FH 6V
B&GH I, 215 LHEODT® 1 kg Blevmuisr s
Grm®H @Cy QUMmETTES HHMHHRMSE 6refleL
GLOMEE6T GUIME! gFMLIL L QL,MMeL @LoLiL]

A)0.67] B)0.16]

C)0.34] D)1J

14. A particle of mass m moving with speed u collides
perfectly inelastically with another particle of
mass 2 m at rest. Find the loss of kinetic energy
of system in the collision.

A)0 B) 1/3 mu?

C) 1/2 mu? D) 1/5 mu?

u CassHe) [BHIID SFIGET @TM U6
Blemeuullel 2 6T6m 2m  BlemUleTeT LOMEMTH
Qummerfledr 18 WWw WLAWDHM CLmsedlev
FhHU@QSmS! erevflev GLmgedleT CUMs gHUGILD
SQLMM6V @\LPLIEDILI &IT600TSH
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A0 B) 1/3 mu?

Q) 1/2 mu? D) 1/5 mu?

15. A ball falls from a height such that it strikes the
floor of lift at 10ms™'. If lift is moving in the
upward direction with a velocity 1ms™, then
velocity with which the ball rebounds after elastic
collision will be

A) 13 ms™! B) 11 ms™!
C)9ms™ D) 12 ms™
@M GUUlLL 2uwrsHelmbhs  10ms’

GausSH eV QU@L LHS eTml Tms' CalssH eV
@6y GBHMEHEE HHIID WOTEHTEHRUNT 565 S 6V
GLMEHIH MG eeflev LB L& CLOTHevenLHSI
GLEWIDLLD HlemFGalssID.

A) 13 ms™! B) 11 ms™!

C)9Ims! D) 12 ms!

CHEMISTRY Q.No. 16 to 30

16. A button cell used in watches function as
following If half cell Potentials are

7 +Ag,0,,FH,0 ) — 2496 + Zniuy + 20H )

Znty + 26— ZIngE°=—0.76 V
Ag, 0+ H,0(1) + 2e — 2Agy + 20H ) E° = 0.34V

The cell Potential will be

A) 0.84V B) 1.34V

C) 1.10V D) 0.42V

M&HHIQETIHIG6 )  LweTU®W  WleTseuln
esTeUBLMM QFWOLQS M.
Zn, +Ag,0, +H,0, — 2Ags + Zntiy + 20H,
Z’n(%;,) +2e — st)EO =—0.76V
Ag, O+ H,0(1) + 2e — 2Agi) + 20H ., E° = 0.34V
GLDM & 600TL | em 7Ll 6oT FHVS5H 6V
WeTeoT(WHFHMHIG6 6L @UBHS 60T 605 H) 60T
6T (WSS 560 5600155 (H 5.

A) 0.84V B) 1.34V

Q) 1.10V D) 0.42V

17. A hydrogen gas electrode is made by dipping
platinum wire is a solution of Hcl of PH = 10 and
by passing hydrogen gas around platinum wire
at one atm pressure The oxidation potential of
electrode would be?

A)0.118V B) 1.18V
C) 0.059V D) 0.59V
PH = 10 o6TeT HC SHorFedsy  enp&

meus&ILL(BeTemr  Wlemmiigeorin  dledTeumil
ELOGVLD 6QMLY.ITR6IT QUM 2 (heUT&H&ELILIHSH M.
e® o6l WwESSSL Wareumanw  SmHl
AL 78260 QUL QEFLR M 6160160
Ll edTeumulledT 2u,86n0CaTmm HM 60T 6T60T60T?

A) 0.118V B) 1.18V

C€) 0.059V D) 0.59V
18. When 0.1 mole of MnO * is oxidised the quantity

of electricity required to completely oxidise to
MnO,” to MnO,

A) 96500C B) 2 x 96500C

C) 9650C D) 96.50C
0.1 Gwmeu MnO,” &3 MnO, &&eilgGarmmLd
DML W& Q&FWIW G & 6m6U UL T6oT
LAl 60T G6OTITL_ L&) 60T 261T6)| 6T60TEOT?

A) 96500C B) 2 x 96500C

C) 9650C D) 96.50C

19. A Derice that converts energy of combustion of
fuels like hydrogens and methane directly is to
electrical energy is know as,

A) Fuel cell

B) electrolytic cell

C) dynamo

D) Ni-cd cell
QL7260 LOMHMILD 158 B 601 L&
aflounmpLsener el 6T epeuld QLMD
qflBsel QauliugGensd GCBIMsE  L6TerMMeVTs
DTHMILD &Hel 6TSI?

A) eriflfleTEEVLD

B) WedTLIG 6] LiledTaH6u1D
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C) emLeor@LOIT

D) Ni-cd il6or&6uLh

20. Aqueous solution of which of the following
compounds is the best conductor of electric

current?
A)CH,0, B) HCI
O) NH, D) CH, 0O,

ereu@d Gerwmiseflar Brs sengFevserfley
618 A mbH S L6oTEHL & 5)?

A)CH,O

207472

B) HCI

) NH, D) CH,20,

21. The molar conductivity of'a 0.5 mol/dm3 solution
of AgNO, with electrolytic conductivity of
5.76 x 102 cm™ at 298 K. is,

A) 2.88 S cm?*/mol
B) 11.52 S cm?/mol
C) 0.086 S cm?/mol

D) 28.8 S cm*mol

298K &V LOTHLSHH mer 5.76 X 1073 em™! 2_6TerT
0.5mol/dm3 & e & edl 6T GLOMeVITH 8 L& &1 5) 606015
5600185 (h) 5.

A) 2.88 S cm?/mol

B) 11.52 S cm?/mol

C) 0.086 S cm?/mol

D) 28.8 S cm?/mol

22. If the E° cell for a given reaction has a negative
value which of the following gives correct
relationships for the value of AG® an K eq?

A)AG*>0;Keq<1
B) AG°>0O; Keq>1
C)AG*<0;Keq>1

D) AG°<0O; Keq<1

QETR&&EILL(HeTem @ LlarsagHer E°
cell Queoral 6THT WG IS eJeoTmTev AG®
WMHMID K FOBIMVHEGID 2 6T6MT QSTLIenL
LNesreu@d Qs L sefley Fifluimers 6rgi?

A) AG® > 0; Keq > 1

B) AG® > O; Keq > 1

C) AG® > 0; Keq > 1

D) AG® < O; Keq < 1

23. The number of electrons delivered at the cathode
during electrolysis by a current of 1 ampere in 60
seconds is (charge of electron = 1.60 x 10-"°C)

A)6x 103

B) 6 x 10%

C)3.75x 10%

D) 7.48 x 10%
1 wwuy Wer orosenssd Q& meoor(h
60  QBMQ&EeT et UGHGWL GUMS
BT lereumuilev Qaueflul_LiL@® b
6TV & LT TedT &5 61l 60T 6T600T 6001 | 5560 85 6TGOT6OT?
(TQeu&L_ymeoflent LiledTaemLn - = 1.60 x 10°C )

A) 6 x 103

B) 6 x 10%°

C) 3.75x 10%

D) 7.48 x 10%

24. The radical ©_ CH,- is aromatic because it
has,

A) 7P orbitals and 7 unpaired electors
B) 6P orbitals & 7 unpaired electrons
C) 6P orbitals & 6 unpaired electrons

D) 7P — orbitals & 6 unparted electrons
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@—CHZ' geatm o miil  SGFTGIL IS

S6E0TEm LD 6M LIS 6] Gl 6oT6uf16D,

A 7P STl Lmeus6eT WwoHmih 7 Haflss
6TQ6VE LT IT6OTSH 6T

B)6P TN LMeU&GET WMmmIh 7 SHellss
6TGI6VE LI IT6OTES 6T

Q6P - oI LMLSGET WHmID 6 Haflss
6TGI6VE LT IT6OTES 6T
D)7P ST LMeV&6T WMmmID 6 SHeflHs

6TQ6VE LT IT6OTE 6T

25. The structure of Isobutyl group in a organic
Componds is

A) CH,~CH,~CH,~CH,~
y  CH
CH,—C—
|
CH

3
CH,
C) >CH—CH2—
CH,
D) CH,~CH-CH,~CH,

@m &l CFInEH KCFT  LIwLlenley
2 mIIL96T SjemLoLIL] 6T6oTLIGI

A) CH,~CH,~CH,~CH -

CH,
Q) > CH—-CH,-
CH,

D) CH,~CH-CH,~CH,

26. Some meta directing substituents is aromatic
substituents are gives. Uterich one is most

deactivating?
A) —-COOH B) -NO,
C)-C=N D) -SO.H

SCITCLOL 1985 USH S GHID aflemeoraserflev
Flev QLLLT el BLESID QFTSGHG&6T
SrUUL(eTerer. aummiev a7 W& H&HLIMs

QEFWELH M6 GHMMERMSI.
A) -COOH B) -NO,
QO-C=N D) —SO,H

27. Which of the following organic compounds
has same hybridisation as its combustion (CO,)
product?

A) Ethane B) Ethyne

C) ethene D) Ethanol

Nereu@Ld siflin GEFFLOUNLD, SiSHelemL i 6Tfl560
ellemerlIQUI@GeTT&HW CO, b @GF ellgLlomer
&HeVLILN6GOT DTS &H6m6v G\LIM MIGTET60T?

A) I & G & 60T B) FF & 60)& 60T

Q) I &5 601 D) 678 & 60TT6V

28. Which one is most reactive to wards nucleophilic
addition reaction?

@CHO
A)
(0]
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&HHHEHT CoFTHmE allemeruiey L& FH &IOS
aflemeotfluLD SH6dTemDU]6m LIS 6TS?

CHO
A)
0]

29. Which of the following compounds will
undergoes racemisation when solution of KOH
hydrolysis?

A)@(

B) CH,~CH,~CH,—Cl

CH.Cl

CH,
C) |
CH,~CH—CH,—Cl

CH

3

|
D) H—Cl—CI
CH

25

KOH Q& meoor(h) BrmMUGE G0 CUMg LleTel B
GFnmIGeTley 618 SGHLPWMUl  SHevenelM@GLd
allemenTs @& 2 L LUOQS mSI?
CHC
o
B) CH,-CH,-CH,—CI

CH,
C) |
CH,~CH—CH,—Cl

CH

3

|
D) H—(ll—CI

CZHS
30.In an SN, reaction as chiral Centres there is
A) 100% racemisation

B) Inversion more than retention leading to partial
racemisation

C) 100% retention
D) 100% inversion

605 J60 SfemLoLILT 60T LG SN, el emeoTull6dT ST &L
A) 100% & LAILOITUI & 606061 WITEH 6V

B) &jemLoLIL] Blemey QLIMIGEM6V (retention) eT&H T

FPMHEAWTH  (Inversion) H&HLIDMTHEVT6L
UGS b [T 4V &H6V60)6 UL T8 (& 5606V
2 (HUMEHGHMSI.

C) 100% emLOLIL] Blemey GlLIMIG 6V

D) 100% S{6mLDLIL]| 6TSH FL0MIG 6V

MATHS Q.No. 31 to 45

31. Ifinthe expansion of (1+x)™ (1-x)", the co-efficient
of x and x? are 3 and —6 respectively then the
values of m and n are

A)9, 12
B)S, 16
C) 12,9

D) 13,9
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(1+x)™ (1-x)" eteorn NfleumsaEH 6L (MBI
X, X2 BWIMHMIET Q& WESHET 3,6 6Tesflel m, n
6T600T 55611607 LOG)L1L| & 61T

A)9, 12

B) 8, 16

0 12,9

D) 13,9
32. The last two digits of (27)*” are
A) 01 B) 02
C) 03 D) 04

(27)7 -60T BT @ ([H @)6V55HHIG6T

A) 01 B) 02
C) 03 D) 04
33. (z+y2'—1)°+ (z—/2°—1)is a polynomial
of degree
A)S B) 6
C)7 D)8
(z+V2'— 1)+ (z— V2" — 1)’ eTedTm LIS MILIL|E

G memeuudeor LiLg

A)5 B) 6
Q7 D) 8
34. The sum of the roots of the equation

(L -a)" =i
A) 504
B) 400
C) 304

D) 404

2017
x2°17+<%—x> =(0  ele0TM  SLDEOTLIML LG 60T

ELO 6L IG5 611 60T o (D) &6V
A) 504
B) 400
Q) 304

D) 404

35. Given T, in the expansion of (1-3x)* has maximum
numerical value, the range of x is

» |34
B)[ o=, 5 u[ 5.
O 51
o) [ 35 ol 5

(1-3x)° eteorm eNfleumeEs&H 60T LSLIQLIH  6T6v0T
HIIL| 2 6Tem 2 muliL T, eTevflev x-607 afFFaLb

A |34
B) o= 5 U] 5.
X 5 1]
D[+

L3 |l

2022
36. Fractional part of the number 4175 is equal to

A) 8/15
B) /15
C) 14/15

D) 4/15
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2022

15 6T60T N eTevoT6u0T 60T LIl6dT6uTL LIS

A) 8/15
B) 1/15
C) 14/15

D) 4/15

37.If the number of terms in the expansion of

1 no, .
(x+1+§> 1s 17 thenn is
A)8 B)9
O 17 D) 16

(x+1+%>n etedtm  allfleumgsgHen 2 6Ter

2 mILIL|&6rfledT 6TevoT600 & 6m& 17 6T60fl6L n=

A)8 B) 9
Q)17 D) 16
10
38. The co-efficient of x* in (& — % 1s
2z
A) 405/256 B) 504/259
C) 450/263 D) none

10
(%—%) eT6or NlifleUME & SHEH60 x4 —60T Q15 (LD

A) 405/256 B) 504/259

C) 450/263 D) eT&l6]Lil6vem6v

39. The largest term in the expansion of (3+2x)*
where x=1/5 is

A) 4, 5th term
B) 5, 6th term
C) 6, 7th term

D) 7, 8th term

(3+2x)° ettt elfleund&HHH v
WNelouiflu 2 mili

x=1/5-60

A) 4,5 QLD 2_MILIL|&6T
B) 5,6 QylD 2 MILIL|&6T
Q) 6,7 QLD 2 MILIL|&6T

D) 7,8 QplD 2 MILIL|&6T

40. In the binomial expansion of (a—b)", n>5 the sum
of 5th and 6th terms is zero, then a/b is

©) ni4 D) n§5

(a-b)", n>5 eteorm F@EHoULIL eliflelley 5 WMHMILD 6
b 2 ML S6TleT Ga(®&Hev LRl ereufley
a/b-6eoT LDGLILY

41. The co-efficeient of x'' in the expansion of (1+x?)*
(1+x3) (1+x%)12 is

A) 1051
B) 1106
C) 1113

D) 1120

(1+X2)4 (1+X3)7 (1+X4)12
X' —60T Q& (LD

et Nfleunsae 6560

A) 1051
B) 1106
C) 1113

D) 1120
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42. The co-efficient of t* in the expansion of ( 11__226 )3
1S
A) 12 B) 15
C) 10 D) 14

(11_tt ) eteorm elifleflev t* -60T Q&L

A) 12 B) 15

C) 10 D) 14

43.If n is positive integer and if (1+4x +4x2)" =

ia o Where a’s /are (i=0,2, 3, 2n) real

r=0
numbers then the value of 22 A 18

r=0
A) 91
B) 9"+1
C) 92

D) 9"+2

N6 (15 LA 60 85 (LD (LD 6T600T, (1+4x+4x%)" = Zarx @I ai,

.. 2n) QLD ULl 6T600T & 6IT 6T601 16V QZOW -60T
r=0

i=023,.
WG]

A) 9"-1
B) 9"+1
Q) 92

D) 9"+2

. 1V
. . 13 +
44. Ifthe second terminthe exp:1ns10n< Va m)
is 14a? then the value of %2 is

A) 4
B)3
C) 12

D)6

10

et6oTm e fleumd: &8 &\ 6v @) J6voTL_ITLD

/C’ -60T DG LIL

SOy

2 _milIL] 14a%?2 eTevfl6L
A4
B) 3
Q)12

D) 6

45. The fist integral term in the expansion of
(V3+32)° is its

A) 2nd term
B) 3rd term
C) 4th term

D) 5th term

(V3+\2)° aeorn elflumeEssHe WS LW
6T600T 2_mILIL]

A)2 b 2 ML

B) 3 @ylD 2 MILIL]

Q) 4 QD 2 _mILIL

D)5 &b 2 mILiL]
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